

ROMANIAN MATHEMATICAL MAGAZINE

If $a, b, c > 0, \lambda \geq 0$ then:

$$\sum_{cyc} \frac{b-a}{a+\lambda} \geq 0$$

Proposed by Marin Chirciu-Romania

Solution by Mirsadix Muzefferov-Azerbaijan

$$\sum_{cyc} \frac{b-a}{a+\lambda} \geq 0 \rightarrow \frac{b-a}{a+\lambda} + \frac{c-b}{b+\lambda} + \frac{a-c}{c+\lambda} \geq 0 \rightarrow$$

$$\frac{b}{a+\lambda} + \frac{c}{b+\lambda} + \frac{a}{c+\lambda} \geq \frac{a}{a+\lambda} + \frac{b}{b+\lambda} + \frac{c}{c+\lambda} \quad (*)$$

Prove that () is true:*

$$\frac{b(b+\lambda)(c+\lambda) + c(a+\lambda)(c+\lambda) + a(a+\lambda)(b+\lambda)}{(a+\lambda)(b+\lambda)(c+\lambda)} \geq$$

$$\frac{a(b+\lambda)(c+\lambda) + b(a+\lambda)(c+\lambda) + c(a+\lambda)(b+\lambda)}{(a+\lambda)(b+\lambda)(c+\lambda)}$$

$$b^2c + b^2\lambda + bc\lambda + b\lambda^2 + ac^2 + ac\lambda + c^2\lambda + c\lambda^2 + a^2b + a^2\lambda + ba\lambda + a\lambda^2 \geq$$

$$abc + ba\lambda + ac\lambda + a\lambda^2 + abc + ba\lambda + bc\lambda + b\lambda^2 + abc + ac\lambda + bc\lambda + c\lambda^2$$

$$a^2b + b^2c + ac^2 + (a^2 + b^2 + c^2)\lambda \geq 3abc + (ab + bc + ac)\lambda$$

$$(a^2b + b^2c + ac^2 - 3abc) + ((a^2 + b^2 + c^2) - (ab + bc + ac))\lambda \geq 0$$

According to Muirhead's inequality :

$$(2; 1; 0) > (1; 1; 1) \quad \text{and} \quad a^2 + b^2 + c^2 \geq ab + bc + ac$$

$$a^2b + b^2c + ac^2 \geq 3abc \quad \text{and} \quad a^2 + b^2 + c^2 \geq ab + bc + ac$$

Equality holds for : $a = b = c$